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QUESTION 1

An organization has established a dear vision for digital transformation and has started their transformation journey.
They have documented al their value streams and started to improve these. They use technology appropriately to
maximize customer experience and operational excellence. They understand and manage risks, and they have a
comprehensive approach to Identifying and using innovative Ideas. 

What else do they need lot the digital transformation to succeed? 

A. Management of threats and opportunities 

B. Improved use of automation 

C. Management of staff skills and competence 

D. Linked processes and practices to value creation 

Correct Answer: C 

Management of staff skills and competence is what the organization needs for the digital transformation to succeed.
This means that the organization ensures that its staff have the necessary skills and competence to support the digital
transformation and deliver value to customers. This can involve training, development, coaching, mentoring,
recruitment, retention, and motivation of staff. References: ITIL 4 Leader: Digital and IT Strategy, page 68-69 

 

QUESTION 2

Which is the BEST description of the relationship between organization\\'s products, services, and resources? 

A. An organization\\'s services ate based on the organization\\'s products 

B. An organization\\'s products are required for the execution of an activity 

C. An organization\\'s resources are combinations of the organization\\'s products 

D. An organization\\'s resources are combinations of the organization\\'s services 

Correct Answer: B 

An organization\\'s products are required for the execution of an activity is the best description of the relationship
between organization\\'s products, services, and resources. A product is a configuration of an organization\\'s resources
designed to 

offer value for a consumer. A service is a means of enabling value co-creation by facilitating outcomes that customers
want to achieve without specific costs and risks. A resource is anything that might help deliver an organizational
objective. 

References: ITIL 4 Leader: 

Digital and IT Strategy, page 11-12 

 

QUESTION 3
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Which is an example of industry disruption? 

A. A service provider has launched a new app to support collaboration that is easy to use, and is popular with
consumers from many markets 

B. An organization transitioned a large number of its services to a cloud provider to remain competitive In their market 

C. A mobile phone provider has adopted a new operating model in response to threats from the competition which has
resulted In the provider becoming the market leader 

D. A software provider has developed a new satellite navigation system for the serf-driving cat market that has become
the system of choice for car manufacturers 

Correct Answer: D 

 

A software provider has developed a new satellite navigation system for the self-driving car market that has become the
system of choice for car manufacturers is an example of industry disruption. Industry disruption is about creating new
markets or value propositions that challenge or replace existing ones. The software provider has created a new value
proposition for the self-driving car market that has disrupted the existing satellite navigation systems and gained a
competitive advantage. References: ITIL 4 Leader: Digital and IT Strategy, page 37-38 

 

QUESTION 4

A software development organization has a very traditional way of working that no longer meets their market needs.
They currently manage all budgets via their development and operations business units.They want to change so that
they 

can develop and deploy solutions rapidly In response to constantly changing market needs. How should they change
their funding model to support this? 

A. Switch 10 funding teams and value streams 

B. Switch to funding programmes and protects 

C. Provide additional funding lo development and operations 

D. Provide additional funding via the research and development budget 

Correct Answer: A 

Switching to funding teams and value streams is the best way to change their funding model to support their objective of
developing and deploying solutions rapidly in response to constantly changing market needs. Funding teams and value
streams means allocating budgets based on the value delivered by cross-functional teams working on end-to-end
processes that create value for customers. This can help increase agility, flexibility, collaboration, and innovation.
References: ITIL 4 Leader: Digital and IT Strategy, page 50-51 

 

QUESTION 5

Which type of risk is MOST LIKELY to be identified by modeling and test reviews? 

A. Dis risk 
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B. Engagement risk 

C. Cyber security risk 

D. innovation risk 

Correct Answer: C 

Cyber security risk is the most likely type of risk to be identified by modeling and test reviews. Modeling and test reviews
are methods of assessing risks by simulating or testing different scenarios, outcomes, or impacts. Cyber security risk is
the risk of unauthorized access, use, disclosure, modification, or destruction of data or systems. Modeling and test
reviews can help identify cyber security risks by exposing vulnerabilities, weaknesses, or flaws in the data or systems.
References: ITIL 4 Leader: Digital and IT Strategy, page 60-61 
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